SHEMAARPE 5 T HEERAE HER : 92.11.13
&f — o b4% 14 g
- EmEmARER e 2
— >~ EEqE (#8459

1.[J E2X - y 22+1=0"4x - 2y 4z = 5 FUMEHEL],
(A)6 (B)E (€)3 (D)2 (E)Eo

Ans @ .(B)

EJ@[#?:
|d—e|

T T rax+by+cz+d=0>ax+by+cz+e=0 HEEE ——x
va®+b*+c?
2X—y—-22+1=0>4x—2y—4z=5fulpEE>

5
5 5 7
dA2x—-y—-2z+1=0>2X-y—-22——=0pVUHpFE —&  =—
. y y 2 P2 NA+1+4 6

2. (T FIEL t X—y+2=8>Ey i X+Yy++62=5fUE| 0 £
V4 V4 Vs 5 Az
A=~ B)= ©= (D)= (E)— -
()6()4()3()12()9

Ans . (C)
Ejl_iﬁ:
N — L
VN P'[Elﬁl:ﬁ?ﬂy@'{mﬁ} n =(1 y — 1 1) , EZF[\H:,[::@L[ IJE" £, n, = (1 1 \/6)
-\
Bt BUSVREILO = e, n, U5 £]150
A\
= cos 0= |—1 2| 61 - 0=60°="
V3-8 2

[ng i, |

Z~ E7RE (H1049)

1. plE;H%!‘A(l 1, -1 =T ME P X-y+2+5=0"E;: X+2y—Z—8f|TT(EI’EUEEJ
AR, o

Ans: x-2y-3z=2

AT
A\ A\
F%j [ = El’Egﬁliiiqéqfl ,t yA o N, oon,
-\ -\
v ELET = nLnl’ " ELE; = nln,
SRR\ B -1 1 1 1)1 1
AEL N N, BY S = 1 E = =(-
nEL non, Y2 [ E nlxnz_(‘ ) 1 H_l 1H1 ) ‘)—( 1,2,3)

A\ -\
fin,=(1>-1>1)>n,=(1-2>-1) = Zn=(1--2>-3)
~“AL-1--1)eE . Er1.(x-1)-2(y-1)-3(z+1)=0=>x-2y—-3z=2
2. iﬁﬁ]%’!,ﬂ(—Z »1-1)>B(1- 1 JpuT B F =T IF  x -2y +3z2=5 = - [[EfVHA



U, °
Ans i 4x -7y —-6z+21=0

EJ@[#?:
—\ _\
P FIE » BV S B R n o,
-\ A
ELF = n 1n,
A 1\
~v“A>BeE = n LAB
LY
n kyn, > ABFIJ“T“HE glln _(1’—2 3) AB=(3’O’2)
A\ A
=>n =n,x x AB = (‘ H ‘ ‘)=(—4,7,6)=—(4,—7,—6)

E:4-(x+2)-7(y-1)-6(z-1)=0=4x—-7y—-62+21=0

3. §@lﬁ?Elix—y+22+3=0’E2:2x+y+32+5=0’E'iﬁ}%ﬁA(Z’S’Z)Uﬂ‘E'I*‘ﬂE?@=
Ans: 5x-y-3z-1=0
T
A\ A\ [ W
n=01-1-2)>n=(2>1"3)= nxn,=(-5-1-3)
E:5x-2)-(y-3)-3(z-2)=0 = 5x-y-3z-1=0

4. ﬁr‘"'gﬂfllﬂ“'%!rA(l’1’2)’B(—1’0’3)’C(2’O’—1)’D(3’k’1)
()i A-B-C= %gﬁifﬂ P AT .
Q¥ A>B-C>D D“I%ﬁi,l\ﬂ‘ Ere fllk=
Ans: (1)4x-5y+3z-5=0 (2) 2
AT
1\ ) 1\ )
Q) AB—(—Z,—l’l)aAC:(l’—l,—S):> ABxAC=(4>-5>3)
T ABC HAEFUEL 4(x-2) -5(y-0)+3(z+1)=0 =4x-5y+3z-5=0
(A B-C>DHTFI = D@3k 1)i?FIABC F
12-5k+3-5=0 = k=2

5. F%E TFIEL 2x+y—4=0 Epty+22=0>E3: 3x+2y+3z2=6" |7 FIEHESEL P
S S R iy [ RER A 4G :

Ans: x-z-2=0

e

3‘F-[Eiﬁ}— FIETS BV 76k
J T EIERU AR (2x+y -4 ) + k(Y +22) =0= 2x+ (1 +K)y+2kz—-4=0
ESEs 0 3+ 2y +3z=6 ="l » FEE[pEI[*[FEE O
S (2°1+k02k)-(3°203)=0
= 6+2(1+k)+6k=0 = k=-1
Fr[’ﬂ‘ FIEU AR, 2x— 22 -4=0> Jlx-2-2=0



6. I%— T EPIETD ST 2X+y +22-1=0 272 = DA sy U H&/Jﬁg%ﬁh 9 Fj=t oy
\—‘f» ;h n o Y T = — = i
Epy A (PIE A SX’EPI%EXﬁ.J
Ans : 2x+y+22=+16
Ejﬁ’?:
VO PEEL I 2X+y+22-1=0"T 77

FERL 20y + 22 =k [T PIES S Hih? A(g, 0,0),B(0,k,0),C(0,0, g)

ESe = T iArElY II}I?E‘?E‘%?

v =1 A0ns. oc_11|5 SRR
3 322 2! T
i|k|3=9 — |kP=6 .. |k|=6 = k=+6

Frsﬂ [IEFVHREEL 2X+y +22=£6

rl[ng’!"A(l 1-3)0B(=2>1-1) Y¥IE  x -2y +32=6 = Iy I AT

Ans @ Ax—-T7y—-6z2+21=0
BT
I —
Al-1-3)>B(-2-1>1) = AB=(-3:0>-2)>n.=(1 > -2 » 3

Lty S A B SETPIE D x -2y +32= 62 AV R ki n - ABLn
i F n Ln
Bl e e I B NP
= X = = —_ ’ ’
§ -2 3| 3 1]° -2

AL 1 3T I E B i A R 2
4x-1)-7(y—-1)-6(z-3)=0 AJdx -7y -62+21=0

8. F%x vy R EE Fx+4y-52+15=0> EJ[J\/(X+1)2 +(y-2)° +(z+4)? V] ML
Ans : /42
AT -
—.JE X+4y—-52+15=0>P(x >y » 2)E37T I;[P|—EL%W’A(—1’2’—4)
HITPA = (X +1)% + (y—2) + (2 +4)?

—_—, . e ., | 1+8+20+15| 42
PA st -] fliiiefl A BIE P E ol 42
Ot T AL A RS B AUAER [ d = ——0 5V

i %m(l »0:1)'B0-1:2)>CQ2--13)» TPE:Xx+y-22+4=0
(1)AABCp IR, o
(Z)F%j‘ [FTABCE=T [ERYA £ 5L 6 > fl]jcosf = o



(3)AABCH T plE Fp% —5TEY, pjl}ﬁi?ggr o

32 G
(1)— (2)+ [ (3)7

EJZiiT’TZ
AR 0°1)°B(0:°1-2)-C(2°-1>23)

—\ -\
AB=(-1>1-1)> AC=(1>-1:2)

4 A\
= - AC=-1-1+2=0
1 -1 -1 1
= AB AC ) ) =(3:3:0)=3(1->1-0
x (‘_1 ) ‘2 1‘ . _1‘> ( )=3( )

—\ _\
(1) AABC i 7 =—J| AB || AC | —(AB-AC)? =%«/3x6— =¥

(2 1 ABC oy [l @ //(ABxAC) G =(1> 10 0)
Efu- FpEvy =1-1>-2)
G-V _, 14140 1 V3

cos O=+ =t==1—
Qv V2.6 A3 3
(3)/AABC 77 "1 E_FT-$HYp9p A = (AABC J/[“17F) | cos 4| =¥§ = 76
10. EPEIRNL > 0 > 2) S el put P A °
Ans @ x=1
AT

= XY gk ffljﬁi n=(1->0-0) 3 xl [H”HJE
TR L (x-1)+0(y-0)+0(z-2) = x-1=0

11, 7 [ P%F%#V*(l 025 3) ) DEIE X -2y +3z=4> BATT [FIE MRV T-FHYMAY AR

£, D BARPI T SR, 'pu:gg;@ .
6 16 18 .5 1
(l)M(—’—’—) (2)A(— 7’—)
EJZ-c‘iT’T
%A(l » 25 3) B _FpiRRY %FM A+T1J‘/\EFIJ+T?"%FA’(1+D 2-2t> 3+3t)
-, t 3
tr e I - — — ’ —_ I -
@ E’FM AA IEFF T ETE o M( 1+2 2—t 3+2t)iE_

(1+E)—2(2—t)+3(3+—t):4:> t+2=0

2 6 16 18

t=-—2 2,2,

= ( )
2 5 18 15
2)" ARG A SRS E Y = A’— _,_
(2) EORE rﬁﬂféﬁ . ( = )

12. #MHIAZAL 0 0)» BO*1+0)» CO 0 1)V i1 .



Ans i x+y+z=1

HEpT s B E EWE%+X+§:1 cAllx+y+z=1

1
13+ A(L>32) 7% FIE -V {HYEIIB(20 1:0) [IC(3 5 1) FIT [FIEfIH ST o
Ans : .3
ijp;-
—\ -
AB 1>-2>-2)>H'JAB=n = E:(x-2)-2(y-1)-2z=0=> x-2y—-2z=0
. 13-10-2]
“d(Co E) =213
Fr[ ( ) N1+4+4
14. I%E:x—y+z:3’F:x+y+z=7’Exjﬂ‘l?iﬂéf’]&%’EJ[Jsinez °
Ans &
3
AT -
A Y A A
E?;—j“”I[JE n1=(1,_1 1) F?i”:[‘[ n2=(1’1’1):> n - n2=1
n -n
cos f=—1—2— = == =sin #=+1-cos’0 = [1—- (— =—
1, | EE R T

15. Ffli > FAB 10 -2)» B2 7> 0)  C(-4>-1>1)
()AABCY Ei-= A28 °

(' #i AB - AC=

(3)91 7 AB x AC = :

(4) AABCIIIE i1 .

(5758 AB fiu=F 171 55 1 H AN AR °
(B)FJ3HA - B » C= RV [ty A=t 1 °

Ans : (1) (é ’ % ’ —%) 21 (3)(22--11-44) (4)—\/_1 (5)2x-12y-4z+39=0

6)2x-y+4z+3=0

AT
3+2 4 1+7-1 -2+0+1 O N 1
(1) G&( ’ 3 ’ 3 )’ FTYAABC Jfglu‘J@tZ(g ’ § ’ —5)

—\ —\
(2)AB=(-1672) AC=(-7+-23)> BC=(-6>-8> 1)

_\ _ A\
AB - AC= (-)x(-7)+6x(-2)+2x3= 1
N\
(3) ABx AC = (22 » — 11 > 44)
2 -1 3]
DS

22 -1 44




—A —\ S W
WAABC%JI AB|*-|AC|* —(AB- AC)* :% 41 - 62—1:_11*2Z

R —\
(O)si AB vz [l i i VFERIEIE AB=(-1>6>2)
= 5 . 5
\/\\rra - — y — , 7 U " —_— — — =
%‘E}ABJH'%#TM(Z 4, -1) o= 2)+6(y 6)+2(z-2)=0
ri2Xx—12y—-42+39=0

—\ _\
(G)ﬁi@A’B’CE%ﬁﬁfﬁ‘ﬁwé;[/i?[ﬁji?’;@ABxAC:11(2 —1-4)
B%#T&ﬂ‘fi'[éj— =2(x=-2)-(y=-7)+4(z-0)=0 ... 0 :2Xx-y+4z+3=0



